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v reama e | == L5 Tam 0.33 0.32 0.30 0.35 0.32 0.29 0.32 0.30
BmC StRaXER Y (E54) 50c 0.39 0.2 0.4k 0.40 0.38 0.39 0.40 0.40
B 50cm 0.08 0.08 0.08 0.08 0.08 0.09 0.08 0.08
ZEOLSE Tam 0.42 0.30 0.43 0.43 0.4 0.41 0.47 0.45
REEFETREEY 5 — (25 50cn 0.35 0.25 0.35 0.33 0.34 0.3 0.31 0.36
B 50cm 0.09 0.08 0.08 0.09 0.09 0.08 0.09 0.09
P E TR (REEY 5 — R Tan 0.23 0.2 0.22 0.26 0.22 0.23 0.24 0.22
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ot mesmEn s | == LB Tam 0.36 0.31 0.35 0.3 0.36 0.33 0.28 0.36
BmC StiaXER Y () 50cn 0.45 0.38 0.37 0.37 0.38 0.41 037 0.33
— - R 50cn 0.09 0.08 0.08 0.07 0.08 0.08 0.08 0.08
TEOLE Tam 0.38 0.38 0.42 0.40 0.42 0.39 0.42 0.52
REETE TR EEY 5 — (E5%) S0cm 0.33 0.30 0.33 0.32 0.33 0.32 0.3 0.31
B 50cn 0.09 0.08 0.08 0.08 0.08 0.08 0.09 0.07
FEEE e (RBEEY Y — R Tam 0.21 0.22 0.22 0.22 0.23 0.23 0.23
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ot meemEL s | == 05 Tam 0.32 0.3 0.36 0.38 0.31 0.29 0.32 0.33
BmC StRaXER Y () 50cn 0.28 0.37 0.42 0.37 0.40 0.35 0.3 0.39
- R 50cn 0.08 0.08 0.06 0.08 0.08 0.08 0.08 0.08
ZEOLE Tam 0.3 0.39 0.38 0.37 0.40 0.36 0.39 0.43
REMETFE TR EEY I — (E54) S0cm 0.29 0.35 0.31 0.31 0.31 0.28 0.33 0.3
B 50cn 0.07 0.08 0.0 0.08 0.08 0.08 0.08 0.08
FEEE T e (RBEEY Y — R Tam 0.23 0.21 0.22 0.25 0.26 0.22 0.23
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ZEDILS Tem 0.43
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